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String str = "hello";
String reversed = new StringBuilder(str).reverse().toString();

System.out.println(reversed); // [O0: "olleh"
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2.2 77 277 0007 (?7? ??. 27?2 7?7°,7?7?7)

StringBuilder sb = new StringBuilder();
for (char c : arr) {
sb.append(Character.toUpperCase(c)).append(", ");

}
String result = sb.toString();
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StringBuilder sb = new StringBuilder();

for (int i =1; i <= 5; i++) {
sb.append("[").append (i) .append("]");
if (1 < 5) sb.append("-");

}

System.out.println(sb.toString()); // 0O0: [11-[21-[31-[4]1-[5]
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StringBuilder sb = new StringBuilder("abcdef");
sb.delete(2, 4); // 00O 2~3 0O - "abef"
System.out.println(sb);
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